
6.4 Exercises

1. Factor the GCF of 15x5
y
2 � 20x3

y
4
z + 5x2

y
2 out. Check your answer by

distributing.

2. Factor 27x4�18x3�24x2 completely. Check your answer by distributing.

3. Factor 4y2 � 9x2 completely. Check your answer by distributing.
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1 To find the GCF Greatest CommonFactor of

15 542 20 3942 5kg2
we will splifff.EE E1IEky4 Parts

coefficient 7 part gpart z part
5 x x y y4 y 1,2 115 20

greatestcommonfactor
Gyfarf.ge Etar L55

1,5 of part

1,3515 4,510,20

common divisor I 5
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2 To factor 27 4 18 3 24
2 completely based on observation

We can take outGCF from it to simplify the process

27 4 18
3 24

2
375 9

2
6 8

Now We can focus on 9 2 6 8 first

split 9
2
into two parts

twopossibilities

split 8 into two
numbers

8 117 8
8 8 X t

8 127 4
8 4 1 2

8 147 2
8 2 4

possibilities

8 8 X1
8 1 1 8

For we onlyneed to check inpart
For we need to check all 8 possibilities

Test the possibilities bydoing the products crossly summing
the products up and ched if the sum matches themiddle

term
2

3X 14

Writedown the result ning

27 4 18 3 24
2 37519 6
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3 To factor 4y 9
2

we observe

4yE ay and got 3002

Using a b atb a b we have

4429
2
1295 13 5 1 3414 3 0


